: YAMAHA WR250X
Salo Lacing FRONT + REAR AXLE SLIDERS

part# Y-WR250AS-F / Y-WR250AS-R

FRONT (v-wRr250As-F)

COLLAR (BK) g1 IDER PUCK
SLIDER PUCK [CLR-WR250X] [SDR-S1]

[SDR-S1-16] PLAIN NUT M6
[NUT-6]

L % ) B((inm R

FLANGE LOCK NUT M6
[FLNT-6] (pre-tightened)

FLANGE LOCK NUT M6
[FLNT-6]

REAR (v-wRr250AS-R)

SLIDER PUCK
SLI[%EE g’zl]JCK [SDR-S1-20]
- BOLT 320mm
L % ) C T T T T e vvenevennevennnenn R
PLAIN NUT M6 E
FLANGE LOCK NUT M6 [INUT-6] FLANGE LOCK NUT M6
[FLNT-6] (pre-tightened) [FLNT-6]

satoracing.com



